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B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2023.

Fourth Semester
Economics — Core
BASIC MATHEMATICS FOR ECONOMICS —IT
(For those who jpihed inJ uly 2020 only) |
Time : Three hours | Maximum :' 75 marks
- PART A — (10 x 1 = 10 marks) |
_Answér ALL questions.
Choose the correct answer :
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The Input Output Analysis was first propounded
by

(a) Marshall (b) Friedman

(¢) W. Leontief (&  Adam Smith
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Input-output analysis is also called

(a) Input Output Table

() Transaction matrix .

(©) Input-Out coefficients

(d) Inter-Industry relations
, PART B — (5 x 5 = 25 marks)
Answer ALL questions choosing either (a) or (b).

+1
(@) y=2t aafio b/ @ 0Hdes.
: 1
Evaluate %/ for y=""~.
valuate 7, for y="—
Or '
45 i dy dly ’
(Q%? y=4x +3x_+5. erafled A . sz,
5 . ;
d ydx3 & ALILGMET SIETs.

dzy
/dx?’
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. AP dy
If y=4x’+3x+5, find Ax’

IrA y
dx®”

P

12.

13.

(<)

(=)

(<)

_.3, 2
u=x '+y ar S5 F) UGS
auams&6sWssmany b SR 9y
For wu=x’+y*, find all the partial
derivatives.

Or

X=3KL’+4K’L+2L+2K aenp 2pups
ermine, K=1 womb L=2 eafld 2 emplnder
Qnéfeom o husdawu sarddigésayb.

Compute Marginal productivity of Labour. at
K=1 and L=2 for the production function
X=3KL*+4K*L+2L+2K .

wlL sramrs I(x-s +i_l—x—1)dx N
x

Find the value j(x5 +—1?—x—1)dx y
x

Or

WL &TETS

@ - j%7 dx

@ [Vxdx.
Find the value :
@ [Vode
(ii) IJE dx..
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15.

(<)

(1)

(<=4)

) won o2

crafled (A+B)-C=A+(B-C)

FsRAUNT&ES.

= =4
Let A=(3 6), B:( £ 7) and C=(" 4),
70 7 \8 4 19

verify that (4+B)-C=A+(B-C).

Or
21
he Be 13 !
A=|4 3 LHmID B= erafled
2 2 2
10
(AB)" =BTAT aenueng sflumiiés.
21 1 3
If A=|4 3| and B;(z 2) verify that
10
(AB)" =BTAT.

2 arefh-Qaualui®) <uieler SigomeaThISEmar
afeul.

Describe the assumptions of Input-Output
Analysis‘. . ,

: Or

2 drafH-CQeuafuli()

sl 5815.

Classify the types of ‘Iﬁput-Output Model.

QUGS T

wepuler -
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PARTC —(5x 8= 40 marks)

Answer ALL questions choosing either (a) or (b).

(1)

(<)

" C=q*+8q+2

=8
y=x"-3x%+7 eramp smmnlne BUGUE®H wHDID

BES wlysmar srars.

Find the maxima minima of the function

y=x%-3x2+7 .

Or

20 Hpeasddar aimami (R) whmb Gsway
(©) srmiyser epGu  R=20g-q°> wHmw

A aefles  sips  Hmeuarssler
Fflane 2 hussd elenc, Qrss eu(BLOTETLD,
Qurgs Gsae wHmd Qerubd S dwueupen
STy

Given the following Revenue (R) and Cost (C)

functions for a firm R=20g-q¢> and
C=q¢*+8q+2, find the equilibrium level of

output, price, total revenue, total cost and

' profit.
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18.

(1)

(=)

{(3)

(=)

Z=2x3+5x y+ayi 4yt aremp smndpE ps®
wppd @rerLmd ugd wess Cdsyssmar

%z 8%z
sarH9y. Cuo@ib = GTETLIE.
O ¢ oxdy Oyox e
afluniésayb.
Find first and second order partial
derivatives of the following function

Z=2x%+5x y+xy*+5° and also verify that
o’z %z
dxdy ayox’

Or
z=(x2 +y)(2x——y2)—é;@ Qurss umssCsw
sanhHlg.. '

Find the total
z=(x?+y)2x-5?).

differential of

Lﬁ;ﬁ&lﬁ\@& I21x6(x7 +1)2 dx.
Evaluate IZ 1x® (x7 +1)2 dx.
Or

@ QuidessE wefuysstiy P=3D wpmbd
Gseeussmiy P=30-2D eafle msiGeurt

o ufl sras.

If demand function for the commodity
P=30-2D and the supply function P=3D,
find consumer surplus.
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19.

20.

(=4)

(<)

(1)

4 0 2
A=12 10 2| aap  solda o8
3 9 1
siofleows siars,
4 0 2
-Find the Inverse of A=|2 10 2|.
3 9 1
Or
Armor  Afeowts  uwausEH  GeTauHD

FoATUTHE®ET Sidsa|b.
2% +3xy —x,=9

X +X, +x9=9

3%, —xy —x5=-1

Solve the following equations by using
Cramer’s Rule :

2% +3x,—x3=9

X, + Xy +23=9

3x; —xy—x3=-1

2 arafH-Qaualli® pweller (@G@purhsamar
Ui Wl (B&.

List out the limitations of Input-Output
Analysis.

Or

Page 11 Code No.:10399 B



HmLi ‘ | VGGG H6&erT

) A wpmib B ererp @b Qgmfldsanar 5

= LIS]GDQ%%GW epuimuie EGLp QarHEsuul(beTere.
QUG SO Qg Gaema Qs Gauafluif

A B
Aped A 18 18 10 36
gop B 9 24 15 148

Qs Csowa A &g 30 sep B &@ 40

< Ha|b Lmdlermed Qurss  Geuafilil(

Slerellenens Siroreafl&sa|ib. - .

In an economy of two industries A and B, the -

data in millions of rupees is given below.
Buying Sector Final Demand Total Output

A B
Selling A 18 18 10 36
" Sector B 9 24 15 . 148

Determine the total output- if the final
demand changes to 30 for A and 40 for B.
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